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PART - A (GENERAL KNOWLEDGE)

1. What is the term applied to evolution of vegetation so that it becomes mcreasingly adapted 1o 1is
cnvironment?

(}rpmc evolution  (B) Plant succession  (C) Climatic climax (D) Adapeation
TFrgfl & Rem & bo B e 7 780ma g o e 5 7 a0l @ s 2

AT
@ﬂﬁﬂ* fasra (B) 9TEH S {wHv (C) womry aeeed (D) e
2. Where do you find the clock and calendar in/on your computer? o O
@Tm Bar (B) Recycle Bin  (C) Library (D) Start Meng

M AT FEEr A aft ik doksw FTW 9w ?
m (B) Rengwa fam  (C) =gad

3. Who is the author of the book *“We Indians™?

ushwant Singh (B) Mulk Raj Anand  (C) Nirad C. ya Swamy
g'm, A gsaw- & Jus &7 _
qnmﬁm (B) &6 I s (C) Aies ¥ el % LR e
4. The nonh pole of the earth’s magnet is near the geographical '
{A) south (B) eaxt {C) west
qefl & gas @ oI A . MMifas @ Fee @
(A) =it (B) g (C) uftram
5. Where did India play its 1™ one day internanonal mateh®
{A) Lords Hﬂdmgley (C) Taume (D) The Oval
HIRH A e e uafadim simiea fa e
(A) ETEH ﬁ : (D) siaa
6. The Academy Award is also known as
{A) Matthews Award mcu.m i (I3} Palm's de Affaire
T g ) PEfafan am
(A) e wdtd (D) 9T & BTy

(A) infrared radiation (C) radio wave uh:ravinlﬂ rays

(C) AW azn @ﬂﬂﬂﬁ’l e

8. The ul-d.-f-st -::_:ul—l'mld in

Hao (C) Bokaro (D) Karanpura

(C) T (D) HE1YN

@Swinming (D) Rowing

@ﬂiﬁﬂ (1) =T
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PART - A (GENERAL KNOWLEDGE)

10, Mouse techmique used for access in propertics of any object is-
{A) Dragging (B) Dropping Right clicking (D) Skt clicking
& aqg & il & o @ [T oudm 9 o aew aedle # - @
(A) &P (B) Fim fmfam (D) Rme Rafe
11. Which of the foliowing gas do not considered gs polluting agent of air?
(A) CO; (B) CO (CHNO; (D) SO,
i A fem Aa @ 9y W geus were a8 men srar? O
(A CO; (B) CO @m, (D) SO,
12, What is URL?

(A) It 15 software used n the defragmentation of disk of computer.
B) It is software 10 make the compuater screen bright,
@hiﬁmiﬁt#hﬂlﬂﬂmgmlﬂiﬂ constilules a reference 10 an rtby
) It s a specific uniform alignment of the computer software to ai
URL zar & ?
(A) 48 ey @ fow @ @ & 0 W) § A 5
B) T8 Tl 1 B aWFar o9 & oo Hiyedas 2
e Rffre $wcy we & &) gevee doam @ fae O
D) wﬂmﬂmﬁﬁﬁqmmﬁnmm

13. Which one of the following pairs is not comrectly matched
(A} Kalinga Award : Populanzation of Science : I
(C) Borlaug Award : Agriculture styer Prize | Progress in religion
Prefafan % | v & & 7l A adl P
(A) wfer yrwaw - A & «@wfm e
(C) W gremie : i

14. In terms of arca, India 15 the __largest & oy Of

(A) second (1) fourth \‘:&

AFFA T 3 A wwa g m o w A B
(A) F¥r@ (1) e &

15. What was the pen name of 1 Chattopadhaye?
(ADKamla Kant {B) Ani (C) Jarasandha
% % SN a5 U9 A wohu.
THAT E (By =¥ : (C) S1RrEm
16. When did Humayun i for?
(A) AD 1531 (©)AD 1533

NEFET A YN S ERE e R en?
(A) AD 1531 AJ:: 1533 (D) AD 1536

of the Intermnatonal Coun of Justice (KCY) 15 .
(B)12 15 {D) 18

g W aranfieil @ me wem faeeh 27
(B) 12 @15 (D) 18
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PART - A (GENERAL KNOWLEDGE)

18.15™ August is the Independence Day of India and
@ puth Korca {B) Indonesia {C) China (D) Pakistan
FTE YA AR W e @ woao 2an 80
:ﬁm Fifem (B) sErfIrm () 9= (D) T @
19. Jawaharlal Nehru award is given for ;
A) Governmen! sclence ({B) Lncrary work
Intemational Understanding . {D) Social Work
TAdistald dus amid fFus fae feor omar &7
(A) TrEA fmE (B) WY ad O
(©) smdi=da s (D) "o i ®
20. *“World Food Day' is celebrated on
(A) Oct 15* (B) Oct 19™ (C) Oct 12"
Torea aner faw va 3 s @ 87
(A) 15 M=RY (B) 19 WA {(C) 12 MR
21. Which one of the following 1s not a plantation crop?
(A) Tea {B) Coflee (C) Rubber
TR A A @ T wEA AR 27
(A) =19 (B} @iyl (C)3a3

22 Which of these keys 1s not on the number kevpad?
(B) Del (C)} Enter (1) Num Lock

st A T W Hoh e O e a8 @ ?
(A)wghe (B) 3= ()

23. The largest standing army of the Sultanate, -|:L| g
(A) Hutmish
{C) Mohammad. bin- Tughlag

T 4 94y 98 gd #@,

(A) S
(C) Mevws—fm—gTa®s

24. Manav Seva Awanrd has been mst' :

(D) 19 o

MEmory

{A) Dr. Rajendra Prasad B} Indira Gandhi
() Mh:ry: Vinoba Shave (AD)Rajiv Gandhi
g T gqEee fEea) AT T &7

(A) 21 Wb TG giaw nrf
(C) maT fa=har sid At

25. A Compuler porable
{A) Super compute
aifsan & fam o

(A) I Fye

c:mbyml:mh—

; ] (C) Minicomputer () File servers
»'- ﬁmﬁﬂwm#- :

) dacia () e e (D) wiga ad«d
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PART B - (NUMERICAL)

26. The different between simple and compound interest on a sum of Rs. 2000 for 3 years at 20% p.:.wﬂl%
b:.

(A) Rs, 248 (B)Rs. 236 ((CDRs. 256 (D) Rs. 266
e W Tl v B fe @ SR 2000 o gaaf a3 3t § 20% oft T & g & fsee @
(A) Rs. 248 (B)Rs. 236 @Rs 256 (D) Rs. 266

27. A man riding his bicycle covers 150 metres in 25 seconds. What is his speed in km per
e waid agfirea @ 25 d9e 4 150 Ao g whw & | TEE WA wem i T & 7

(A) 20 kmvhr 1 Skmhr  (C)23 kmiw (D) 25 kmvhr

28. A and B together can complete a picce of work m 8 days while B and C wogether can g |2 days
All the throe together can complete the work in 6 days. In how much time will A and C togcther
e the work?
8 days (B) 10 days (C) 12 days (D) 20 days
A B fEse el om #1 8 @3 A ga o g & e B oo T W 12
= % ymr 7w € ol A=l fRas 9w 5 1 s BA A oo |A:!I‘In:'l'i|m
I8 arm o f R § g et ?
@s 2= (B) 10 f3+ () 12 fitm (D)
ﬁmei%mp:mdu-dmlﬁmim?
i%ﬂ%mﬁﬂﬁhﬂﬁﬁrﬂmﬁﬁ?ﬁmﬂ
(A) 0.0005 (@®))0.005 () 0.05
30. The speeds of three cars arc i the ratio of 2 : 3 1 4. Find the times taken by these cars
to cover the same distance,
i R B M 234 S AU A w A 39 & g fae G \5ee
T g F1)
(A)2:3:4 (B)4:3:2 6:4 33
31. A tradesman marks his goods al 30% aboVe the llows puschasers a discount of 15% for cash,
What peofit percent does he make?

UE ST MO WEE @ FAE
15% @ g ¥ 8| T nfaem &
(A) 11% (B) 9.5%
a2. Find the value oft
Frfafia & a9 5@ @Y7
0.07 » 0.07 = 0.07 — 0.05 = @1

(A)D.DO2
33. Find the value ol:
fefafln = 7= 73 &
I+ 141+ {1+] e

(€) 0.2 (D} 0.0002

i (D)2
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PART B - (NUMERICAL)

34. Average of 1en numbers is 7. If every number is multiplied by 12, what will be the average of new %
numbers?
¥ emadl € sad 7 ) R gl wen @ 12 9 gun B a2 a0 oad densil 4 sh
T B

(A)7 (8)9 (© 82
35. Inthe given figure, 1y ||tz and £A — 65°. Then 2C =17
@ ol A | gy |y BN LA-65° kW LC=7 l(l
B L

(A} 11D0° 115'

(C) 120° (D) 135° &;ﬁj
36. Find the value of®

fr=tiaian & W= 99 &

21x15 60+7+31=292

(A)218 () 186 @217

37. Find the valuc of:

2707
v 27.00
—-—z:;‘rnz?mm A i HE
(A) 10 (B) 100 {C) 1000

38 _Find the value of:
Fre=afafee & W= owa

78190757
(A) 130 (B) 124

39. A sum of Rs 600 amounts to Rs 720 in 4 ye
increased by 23,7

(A) Rs 724 () Rs 648

40. At what percent annual compophda
(B) 15055

I rale, @ cerain sum amounts 1o s 27 imes in 3ycar?
Aftas aoin A of 4 sh 27 7 @ = B2

/ {nfm

(A) 100% .

41. A shopkeeper sells eggs37 2P o #'rupee gaining 30%. How muny cges did he buy for rupee? :
U HHITER [ T W2 dmm @ faed 99 300 & @ @ &) 9w o sl b A |
33 Wi A7

(A) 40 B)@ (C) 35 ﬁ
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PART B - (NUMERICAL)

42. The average age of 40 students of a class 15 15 years, When 10 new students are admitted, the a
age is ncrcased by 0.2 years. The average age of the new siudents is:
(A) 15.2 years (BDI6 years (C) 162 years (D) 16,4 years
v e § 40 RenfEat o e ang (s ad 2 2R 10 e frondl wcft e mia € o
iy 02 ad a7 orh &) T @enfEdd & aea g &
(A) 152 ora ((B)16 M (C) 16.2 | (D) 16.4 T @

43. Find the value of
T W4 WA

Prefaftm
KT = 909 -7 O
@5:&413 (B) $87523 (C) 614823 (D) 615173 '

#4. Moving £ of its usual speed a train is 10 min Late. Find its usual time 10 co
{A) 25 min () 15 min (C) 35 min
s mar afy @ 2 R uerh gE 24 10 frw T8 A &) W

aYa Wy 7
(A) 25 fafre (B) 15 fafe () 35 e

year?
w3 fFw o @ T AR o g T a1 i Tt & 1/5 B AR
(A} 5% (C) 1% -
46, (999+588)7 - (999-588)° _
ol 999 = S88 ‘

i (9994 588)% - (9990-588)* —
W99 . SBB
{A) B (B)3
47. 6 boys can complete 2 picce of work in
6 dud fbdt W ad 16 uE A g
a2
(A) 10 (B) &

4B Find the value of:
i G o
V5159225 = 7

@3.1 5 (D) 24.15

valuec of A : B.
A B @t s I B

ICri:i @:]

out of 600 animals. Find the number of lions
[ 1% e & B9 B/ FEn o T

{B) 95 (CHtis (D) 85

(A) 2345 (B}

49,11 0% of A = 20% of B,
AR AT IWP=-B

(A)1:3

50. In a forest, there are |
T g1 i



prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval


www.eenadupratibha.net

DMMT/C53/Page 9 of 16
PART - C (ENGLISH)
51. Analogics for :
PIPE : WATER :: %
(A) sofa - furniture ) fan : air @
(C) door : look (D)chimney : smoke

52. Find out the error part of the following senience -
The culprits of (A) the bomb explosion have (B) not m@ been discovered. (D)

53. Choose the most suitable preposition : O
I differ.........yvou.
(A) from (B) of (©)wimn
54, Choose the option that descnbes the meaming of the followmg idioms :
To keep one’s temper :
A) to become angry (B)tobeinag
to preserve one's energy (2} none of
55. Find out the error part of the following sentence :
She was so (A)/ emotional stable thay(B)) she was not o ! by their decision to
suspend her. (D)

56. Fill 1n the blank with appropnate given option:
The Bible 1s ....... Ancient book of Chrnistians.
(A)a (B) an

57. In the following question identify the
(1) 1 really think he overstayed his
(Il) The plane's undercarmage failed 1‘.-" and it crashed.

(111} A detailed list of the partic i seminar 15 given overlcal.
{1V) Rajendra has a very o ality.
(A) 11l and IV m@ (C) I and 11 @w only
58. Antonym for : @
v

(D) that

MISLEAD
(A) alter scparate (C) malady @pprim:
59.Find out whi rt 6f'the sentence has an error. If there is no mistake, the answer is (D).

Rana Pra . {A) / blind wilh.-'r.mc eye. {C) / No error (D)
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PART - C (ENGLISH)
60. Fill in the blank with appropniate given oplion: %
Who are ..., people that are standing there in the street?
(s (B)an ((C)he (D) that @
61. Antonym for :
FEARLESS

62. On the basis of the given sentence pick oul the correct sentence convened in Int

from the given options :
{A) The children shall be playing (B) have The childséa 1o Gy
(C) children The will be playing? @Am the rh:%

(A) intrepid (B)eraven (C) vacillate (D) oscillate % O

63. Antonym for :

64. In the following question identify the correct sentenc
(1) One casy answer is water colour painting.
(11) The gentle movement of a brush has a

EXPEDITE
(A) extract (8) distract () detay E @ (D) defend
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PART - C (ENGLISH)

67. Choose the suitable option that descnbes the meaning of the words or phrases printed in
italics in the following sentences : %
She was in @ brown study and did not notice my entrance @

@rﬂcﬁc C (B) fear (C) dream (D) sleep

68. Choose the most suitable preposition ©
Since he is ill, he is confined. . ... ... bed.

(A) in (13) on @m (D) of O
69. Find out which part of the sentence has an error. If there is no mistake, the ans
My uncle frequently goes fo :hmadnn business (B) / by air. (C) /
70. Find the synonym of : @
RANGE

(A) Level 'E:pﬂnﬁ: (C) Grade ding

71 Fill in the blanks with appropriate conjunction O
Iwishl...... vensnsses More, when 1 was al university. @
@m studied (B) would have studied (C) would gind (D) studied

72.Find the synonym of :
LIBERTY
(A) Obligation (B) Rights

73_Fill in the blanks with appropriate conjuncts
I..oooese.my second boat, when | was 26

{A)bought (B) buyed

74.0n the basis of the given sentence pad

(D) Democracy

r (D) hied

7 correct scntence converted in Future

(B) 1 will have missed a good chance
@lwil’lhcmiﬁingu han (D) 1 will be missed a good chance.

75. Find oul which af th e has an crror. If there is no mistake, lhe answer is (D).

re away (B) / the Chinese. (C) / No error ([J)
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PART D - (REASONING)
76. Amange the words in a meaningful logical order and then select the appropnate sequence from the
altemnatives provided below:
1. Punishment 2. Prison 3. Arrest 4 Crnime 5. ment
Tl B Us aris g a4 Jae ai iR Pefatm W Tomaa wR W g
1. 2% 2. R 3. ffewendt 4, s 5. daan
(A)S,1.2.3.4 (8)4,3,5.2.1 @-n 3,5.1.2 (0)2,3,1,4,5

7. Amange the words in a meaningful logical order and then select the appropnate sequence fram
alternatives provaded below:

|. Family 2. Communil 3. Member 4. Locality 5. Co : O
nﬂﬂﬁmmrn;mﬂahﬁwfﬂrhﬂWMﬁmﬁﬂﬂ P
I, vfRar 2. wErg 3. wwa 4. figs

) EAS (B)3,1,2,5.4 (C)3.1,4.2.5 {3,

A}ISm.Hmh I_B}I".’rm,'?mu'lh {C) 30 m, Enst ﬂmﬂ;

& ﬂaﬂ?mgﬁ&mmlmﬂﬁm-‘lﬁﬂ:w e 15 Mz T
o) | e ar oo srD @l s qe @ 3w 15 See weEr g oW . Wt B fad g ot
FFe fm 4 27

(A) 15 e, oo (1) 15 Few, wffm (©) dofee, gd

79. In the following question one term m the number scrics is - Wat the wrong 1erm.
ﬁmﬁamﬁmnmhﬂﬁnﬂmum

11,42, 39, 164, 525, 421, 749
(A) 164 @ (€) 525

80. In the following question one number 15 missing in L
the senes and then insert the missang aumber,
Fr-fefisn smmran 4 ¢s 9% TEe &) au

i'

(D) 749
have (0 understand the pattern of
Azt wEeT A R e e @)

firerm &
P SR B 16, 32, 64, 128, 236
(A) 2 (B)3 @‘

81. How many 5's are there in the I'nl W
even number as well as immedas
frefafrm sy i G5 feret s |
W g &7

b:ranuddnuni:mr
& 9% U ww wen a8 oy O ag o A

8548557250664 58917
1A)3 (Cya @ one of these

B2. In the following qucs phe of the four Answer Figures on the night should come afler the
Problem Figures on § bt sequence is 10 continue?
farefarftan o 1 2 A v o o & dop @ e sl @ a5l o o we
TR SFEET AR o srefi?

Problem Figure, / ¥ Answer Figure / I7° a5

O1ZINTICE] [N
= @
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83. Choose the correct mirror image from the alternatives - — — 5
(AN (B) (C) and (1) of the figure given | g b -
{:1 o

& wE sEi & Fwet (A), (B), (C) -
afe (D) A @ ol o= wim e & 971 =

B4. In the following question four words are given, out of which three are same in cac way of the
forth one is different frogp Iheﬂhcrmm: Select the odd one.
{A) Sun {C) Veous (D) Eanth
Wt # A ﬁtw!mﬂmnqmenmﬂqﬁmg e
arm i+ el A T Hmrmn-:q-rmﬁl

(A) 3= b C) us
B5. In the following question, select the correct option of the
question asked

Which letter will come on the blank surface 7
wes A, g Y @ & @) AEen w0 9w B

e HOE 97 ® - ST MEmF

(AYC (B} A @a (D)E

88. Choose the correct mirmor image from the alematives
(A), (B), (C) and (D) of the figure given on keft side.
T wew & N st @ Weed (A), (B), (C)
sz (D) § & w6 =i wdv afafa 7 g

87. In the following gqueshon, four positions of the same
dicc have been shown. See these figures and select the
number opposite 10 the number as askod in this ¢
frerflfem o A oz & @) @ ' R 29
371 g o 28 e wem A e
T Tty gw o4 # g o 87
Which symbol will come opposite to sy
uyitas O + fAoim T s 3

@0

I":g-mﬁ will co
Fredfafag g

Fra—7h snafh fag o sl I""

(D A

e -
A B @ [+

89, Pointing 10 a boy in pho hil says, “"He i% the son of my mother™s only son’s son”™. How is

Akhil related to that
{A) Uncle Mot ather (D) Cousin
wEmTE W U6 JEE | TOY $T £y WA HEm &, “ae AN w & e g3 a0 e

¥ 98 Ws® 4 =

(A) wrm 1 v @aar (D) Wit s (@)
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0. Find out the missing mamber in the followmg: e
- Frenisd arefl & e s 78 ot «::j;,/;‘p

(A)33 (B) 145 135 (D) 18 >
© <

1. In the following question four words are given, out of which three are same in onc way or the other
arth ong is d:ferent from the other three. Select the odd one.
(1A)Suspshot (B) Diagram (C) Sketch (D) Painting

e wy A WY AR Ry me B R A A T qe m gt TG A qw e o Y G
¥4 @M Nl 9 ywe §) SR e m e $1) =~
(At (8) 3T () &3 (D) e

92. In the following quest:on, which one of the alternative
ligures will complete the given figure pattern?
Fierfifts we &, d5foqw smafad 7 @ Fm-@  Paltern
it fre e amefy f=t & gm wal?

_ 93.1f in a code language MADRAS is coded s NZEQBR, then CALCU %
Wﬁemﬂx MADRAS #1 NZEQBR & &1 7 fedg & W
1 fsw v & Feag Ao Som?

(AYOZMBVSUB ~ (B)DZMBVSUZ  (C) DZMBVUUZ % {BTUSB

94. In the following question, which one of the four Answer Fig zht should come after the
Problem Figures on the left, if the sequence s 1o contnuc?
Frefaitan e & Af2 appea e T wg @ i & are T TRw
o TN Tow Wit 7 A @E-0 apf ameh?
Problem Figure / @930 3R Answer Figure / 9

s 5l

85, Rama travels a dstance of Skm lrom a place "A
walks 2 km and finally tams righe and walks 3 kip !
IHI?

arth, herns lefl and walks 3 km. again tams nght and
he place ‘B, What is the distance herween ‘A" amd

A oo & @1 gEm @ a3 Reenfer waa & R
M #, afte s T gEen @ ot ta o W TREd ®

e sine #7

{(C) 2km (I3} 10km

times obder than her daughter. After 10 years, the mother will

enl age of Chandravat s

(") 20 years (D) 30 years
T g A ar o el 10 o & o 1 W g sedl g @

(C) 20 T4 sumt

gura =it e @ o 2 feedee o O
fag 3 fverfler warm & | T o2 jerg
(A7 ke (B) 13km

96. 10 years ago, chandravati’s ¢
be twice older than the daughie
{A) 5 years '
10 o TEA, SRl ey
gl gl merh @ B
(A) 5 md
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a7 In 8 cenain code, INSTITUTION iz wniten as SOITUTITSN]L How i PERFECTION wnnen m that %
conde?
v fAfegn ae A INSTITUTION @1 NOITUTITSNI & &0 & faen onen & of ol #he 4
PERFECTION 1 #4 formn amer 47
(A) NOICTEFREP  (B) NOITCEFERP  (C) NOITCEFRPE I:FHI:ZF

a8, A worker may claim Rs 15 for cach km which be travels by taxi and R £ for each km which be doves
his own car, If in one week he claimed Rs 500 for travelling 80 km, how many km did he travel by

taxi?
T arT Faft Moot ort o8 af wraw R oy wets GReinie @ B0 a5 TR ot sl e A T T

abdry 2 for o oyl w0 oo wrw B oy 43 v ey A g Ao @ TTE F) @ e wo e
w00 et Swel o e eedfice O o o @7

o (B) 20 (C)30 (D) 40

99. In the following question three out of four allernatives contain letters of the alphabet plac

form. Find the oo that does nol o e
Prfaflye ovq A W 3 A D iimmmwummwnm

ot O wE e frve o @ 7
(A) EHG (B) IML {C) PSR

100. Fund out the masang somber i the followmg:
faenfn ol 4 miew a0 F@A &

(A)9 (C) 10 )21 " F ;9_

KEPT INTENTIONA K
USE FOR ROU

@§>
N4
?@
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